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(A1-A3) ( )
Al. 32 bar, 900 K (Ny; =17/5 )
225K (V) ") i)
A2. 1 bar (CH;OH) 65.0 °C
104.1 J K ' mol™ 20.0 °C
092
A3.3000 K Ha(g) — 2 H(g) K= {M}
pHy)/p” ],
H,, H 3000 K, 1.0 bar H

(3000 K) Hax(g) H(g)

AeH® / kJ mol ™! 0 229.79

Sp°/JK " mol™ 202.89 162.71

B

4  (Bl1-B4) 2 ( )
€ 2 )
BI. CF;CCLH -
0.731 kI K ' kg -

50.0 °C, 0.2 MPa 0.1 MPa -

p/MPa 0.10 0.20
50 °C /kI kg 413.99 41179
B2. 1 bar (80.1 °C) (C¢He) 87.2JK ' mol™
0.82¢g cm
B3. 1 bar (Sn) 291 K a 577 gem™) B (
727 gem™) o P 2.5 kJ mol™ 1 bar, 291 K
o-p dp/dT
B4. 298 K 1 bar 0.2 mol dm” (HCI) 100cm® 0.56 g (Fe)
(Hy) Fe(s) + 2 H'(agq) — Fe*'(ag) + Ha(g)
418K ' g™, 1.00 g cm™ H; (Com= IR
)
(298 K) Fe(s) Haq)  Fe''(aq)  Hi(g)
A¢H° / kJ mol™ 0 0 -89.1 0
Swm®/ TK " mol ™ 273 0 ~137.7 130.7
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- m=3.1415926536 ( )

- R=8314472TK "mol ™" (

- Na=6.02214199 x 10* mol™" (
- k=R/Nx ( )

- g=9.80665ms > (

[2. ]

[

]

- 0°C=273.15K ( )
- 1bar=10°Pa 1atm=101325Pa

[
H: 1.01

]
C:12.01 N:14.01 0O:16.00 F:19.00

Na:22.99 S:32.07 Cl:3545 Fe:55.85 Sn:118.7
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- H=U+pV

- A=U-TS
- G=H-TS

’ Cp,m _CV,m =R

- pV7 =const., TV’ =const.
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- dH =TdS + Vdp
- dG =Vdp - SdT
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